ee023) Figure 25-39 shows a 12.0 V battery and four un- "cl Cy
charged capamtors of capacitances nces C; = 1.00 uF, C; = 2.00 i 1
WF., C; = 3.00 iF, and C, = 4.00 uF. If only switch S, is closed, i l H
what is the charge on (a) capagcitor 1, (b) capacitor 2, (c) ca- A _
pacitor 3, and (d) capacitor_4? If both switches are closed, o2
what is the charge on (e) capacitor 1, (f) capacitor 2, (g) ca- 11 1
pacitor 3, and (h) capacitor 4? 2 2
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<"-21) Figurei 25-37 displays
a 12.0 battery and three un-

charged capacitors of capaci-

tances C, = 4.00 uF, C, = 6.00
uF, and C; = 3.00 uF. The
switch is thrown to the left
side until capacitor 1 is fully
charged. Then the switch is
thrown to the right. What is the
final charge on (a) capacitor 1,
(b) capacitor 2, and (c) capac-
itor 37 ssm
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A parallel plate air-filled capacitor having area 40 cm?
and plate spacing 1.0 mm is charged to a potential difference
of 600 V. Find (a) the capacitance, (b) the magnitude of the
charge on each plate, (c) the stored energy, (d) the electric
field between the plates, and (e) the energy density between
the plates.
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1al difference V
gement with capacitances C, =

— 4,00 pF. What are (a) charge

gs» (D) potentia and (c) stored energy Us for
capacitor 3, (d) 91 (e) Vi, and (f) U; for capacitor 1, and (g)

q2 (h) Vo, and (1) Uz for capacitor 27
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@ An air-filled parallel-plate capacitor has a capacitance
of 1.3 pF. The separation of the plates is doubled, and wax is
inserted between them. The new capacitance is 2.6 pF. Find
the dielectric constant of the wax.
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@ A parallel- -plate air-filled capacitor has a capacitance of
50 pF. (a) If each of its plates has an area of 0.35 m?, what is
the separation? (b) If the region between the plates is now
filled with material having « = 5.6, what is the capacitance?
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@ Figure 25-42 shows a
parallel-plate capacitor with a
plate area A = 5.56 cm? and
plate separation d = 5.56 mm.
The left half of the gap is filled
with material of dielectric con-
stant k; = 7.00; the right half is
filled with material of dielectric
constant k, = 12.0. What is the

capacitance? ,
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Figure 25-43 shows a
parallel-plate capacitor with a
plate area A = 7.89 c¢m? and
plate separation d = 4.62 mm. .
The top half of the gap is filled ~ Fig. 25-43 Problep 43,
with material of dielectric con- |
stant «k; = 11.0; the bottom half is filled with material of d.
electric constant «, = 12.0. What is the capacitance? ssy
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